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Fourier Transform Conventions:
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Operators and the Schrodinger Equation:
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Formula Sheet 2

Raising and Lowering Operators for the 1d Harmonic Oscillator (3% = h/mw):
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1. (80 points) Short Answer

(a) 11 and 9 are momentum eigenfunctions corresponding to different momentum
eigenvalues, p; # ps. Is ¥ = 91 + 15 also momentum eigenfunction?

Yes No It Depends

(b) A particle of mass m and charge ¢ is accelerated across a potential difference V' to
a non-relativistic velocity. What is the de Broglie wavelength A of this particle?

m qV h m :
T — Sl eI Something Else
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(c) A two-slit interference pattern is viewed on a screen. The position of a particular
minimum is marked.

This spot on the screen is further from the lower slit than from the top slit. How
much further? Circle one:

0.5\ 1.5\ 2\ 2.5 3\

(d) Consider a particle of mass m. Is there a physical configuration of the system in
which the position in the z direction and the momentum in the x direction can
both be predicted with 100% certainty?

Yes, every state Yes, but not all states No, no such state

Yes, but only for free particles Yes, but only for particles in an infinite well
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(e) Make qualitative plots of the ground state and the 6 excited state of the potential
sketched below, with the lines marked Fy and Ejg indicating the corresponding
energies. Indicate the important features of your sketches.
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(f)

At t = 0, a particle of mass m trapped in an infinite square well of width L is in
a superposition of the first excited state and the fifth excited state,

Vs(x,0) = A(31(x) — 2i¢5(x))

where the ¢,(x) are correctly-normalized energy eigenstates with energies E,.
Which of the following values of A give a properly normalized wavefunction?

\/Lg £ \71% %3 None of these

Given the wavefunction 14, what is the probability of measuring the energy to be
Eg at ¢t = 07 Circle one:

Given the wavefunction ¢, what is the probability density of finding the particle
in the middle of the box at time t = 07

0 % 2 2 Undetermined

At time t = 0, with the system initially in the state 1, the energy of the system is
measured and the largest possible value is found. What is the state of the system
immediately after this measurement?

Now suppose that, with the system initially in the state 1, we first measure the
position of the particle, and then immediately afterwards we measure the energy
of the particle again. What value(s) of the energy could you possibly observe?
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(k) MIT scientists have recently discovered a parallel universe in which the laws of
physics are completely identical except everyone wears a goatee and/or too much
mascara and seems vaguely dangerouss. Your decorated double, who is currently
taking the parallel-universe 8.04 exam, just claimed that the wavefunction ¢, from
part (1f) will evolve in time ¢ as,

U(z,t) = A(3p1(x) — 2is(x)) e

Is your evil twin correct? Circle Yes or No. If Yes, write an incorrect wavefunction
in the box below. If No, write the correct wavefunction.

Yes No

(1) Using the correct wavefunction, what is the expectation value (E)t at time ¢ in

A

terms of the expectation value (F)q at time t = 07

A A

(E)Oeﬂ"’“t (E)o (E)q cos [(wr —wq )] Ey None of these
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(m) Let ¢, be the properly-normalized n'* energy eigenfunction of the harmonic os-
cillator, and let

Which of the following is equal to ¥?

On n ¢ (n+1) ¢y, N Oni1 None of these

(n) What property of the spectrum of the harmonic oscillator follows from the com-
mutator [F,al] = hw a'? Note: no computation needed, just a short sentence.
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(o) Consider a harmonic oscillator which is in the state ¥, (z,0) = ¢y at time t = 0.
Will the position probability distribution P(z, ¢) vary with time? Circle Yes or No.
If yes, write down an specific alternate wavefunction for the harmonic oscillator
for which P(z) is time independent. If no, write one whose P(z) varies with time.

Yes No

(p) Consider the wavefunction you just identified as having a time-dependent position
probability distribution. With what frequency does the position probability dis-
tribution oscillate? Construct another wavefunction whose position probability
distribution oscillates with twice this frequency.

frequency :
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(q) Use your knowledge of the operator method to derive the wavefunction for the first
excited state of the harmonic oscillator, ¢;, from the ground state wavefunction,
®o, given in the formula sheet.
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2. (20 points) Particle in Mystery Potential

The wavefunction for a particle of mass m moving in a potential V'(x) is given by

:L.efB:L‘ efiCt/h x>0 }

w(x’t>:{ 0 z <0

where B and C' are real constants such that ¢ (x,t) is a properly normalized wave
function that obeys the Schrédinger time-evolution equation for a potential V' (z).

(a) Sketch this wavefunction at time ¢t = 0. Mark any significant features.

(b) Using what you know about v, make a qualitative sketch of the potential V' (x)
governing this system, indicating in particular any classically forbidden regions
and classical turning points.
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(c) Is this particle in a state corresponding to a definite energy? If so, what is the
energy (in terms of any or all of B and C); if not, why not?

Yes No

(d) Are there any energy eigenstates in this potential with lower energy than 7
Explain (briefly).

Yes No



8.04: Exam 1 15

(e) (5 Point Bonus) Determine the potential V' (x) in terms of B, C, m, and h. Does
your result agree with your qualitative sketch?
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